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Jii has 4 blue crayons and 7 green
Il crayons. How many crayens does
she have attogether?

Ava read 3 books at schocl and & 1
1| bocks at heme. How many books
did she read altogether?

Beoqir
The dog had 5 bones and then

it Found 5 more bones, How many
bones does the dog have now?

Jack has & toy cars and 2 toy
rockets. How many toys does he
have altogether?
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There were 3 fish swimming in the
hl sea and then another 4 Fish joined
them. How many fish are there
swimming altogether?

There were 5 Kids on the bus and
‘hen another 4 kids got on How
many kids are on the bus a\mgaﬁ\er‘z‘
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There were 3 apples, 2 bananas and

h | orange in the basket How marvy

things were in the basket
atrogether? )

Dad has 5 white shirts, 2 black
shirts and Z blue shirts. How many
shirts does he have affogether?
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The ladybug had 9 leaves but then it
ate 5 of the leaves. How many
leaves does the ladybug have left?

Redlt .
The sunflower had 8 petals but then
3 petals Fell off How many petals
does the sunFlower have left?

ReadiT
Mia had 10 teddy bears but then she

gave 2 teddy bears to her sister:
How many teddy bears does she
ve left?
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The store had 10 bottles of mik but

then it sold 4 bottles of mik. How
many bottles of mik does the

) J store have leFt? J
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The monkey had & bananas. It afe 2

h bananas in the morning and 2

bananas in the afternoen How many
bananas does it have left?

There were 10 chocolates in the box
Mom ate 4 of the chocolates and
Dad ate Z of the chocelates How

q

J many chocolates are left?
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There are 2 pink Flowers and 4 blue
Flowers in the vase. How many
Flowers are there altogether?
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Ben has 6 shells and Sam has 3

CHALK

[

ReadiT
Miss Smith has 5 pleces of blue chalk

Word
Problem

q

Read!

T

ReodiT:

Word
Problem

q

Qo
The monster had 9 snowballs and
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There are 7 gold cons and 3 siver There were & owls sitting on a branch I 'have 5 caps and my brother has 8 The pet store has 9 dogs and 3 Mary had & lofipeps and then her dad
shells. How many shells do they and ise?;fm'ﬁddcﬂgih?:nxw il consinthe treasure chest How and then ancther & owis joined them. Tﬁgxf;ﬁﬂsq Sm“:_i’:"s i|  caps. How many caps do we have cats. How many animals does the gave her 7 more. How many lollipops
have alfogether? s altogether? ) many cons are there altogether? How many owls are there altogether? mmm’f have does i altogether pet store have aftogether? does Mary have aftogether?
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